Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

e I
o O QO
N w N

=
o

IIII.IIII| IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIM]\l

H
© o
Lo

|
<
w

T TTTT III|IIII_M| IIIIIIII| IIIIIIH] IIIIIIﬂ] IIIIIIII| II|||||||

[EEY

0.5

QOQ va Pp_ Jets

Filtered Jet Mass(anti-kT(0.7), 2300<p <450, |y|<2.5)

PS
<TI

m CMS u
--3-- Herwig 7.2.0 default
----- ¢ Sherpa 2.1.1 default

L1l III|IIII_ﬂII| IIIIIIII| IIIIIIlI] IIIIIIlI] IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIlI] IIIIIIlI] IIIIIIII| IIIIIIII| IIIIIIllI IIIII|‘ll“

o]
[
-
a
[
Ll

|
.
-
-
¥
T
|

~150
(m_1+m_2)/2[GeV]

Rivet 3.1.0, = 5.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


